
Με τη βοήθεια της αριθμητικής σου γραμμής, βρες τη  
διαφορά στις παρακάτω μαθηματικές προτάσεις: 
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6 - 3 =   3                                9 - 5 =    4 

 
  

 

9 - 3 =    6                               10 - 7 =    3     
 

  

 

4 - 3 =   1                                 6 - 2 =     4    
 

  

 

8 - 2 =  6                                  9 - 1 =     8   
 

 

  

4 - 4 =   0                                 7 - 2 =      5    
 

 

  

7 - 5 =   2                                10 - 6 =     4  
 

Όνομα: ___________________________________________ 


